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Chapter- 5
MULTIPLICATION

WORKSHEET
l. Solve:

A.Multiply the following by using tables.

1)6x4=_2Y 212x5=_£0

B. Use multiplication tables to complete the patterns.

1o30 b L -

y e, b ) ==y

1)2,4,6,8,

2)3,60012,05 AB L 2 Y

C. Multiply the following.

1) 3. 72884 A 2) BE3T 0 1
x 4 x 7
12464 8107

D. State whether the following are true or false.
1) 47 X 8376, LXLL

2)80x 6 =540 ol

E. Find the product.' %
| 2 b—
>
1) 72 SR 3_- 5 ) & 8 s
XAED NN q 2 25l (B
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1. Do as directed. 56 O

A) Estimate the following products to nearest 10.

2598 % 37
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B) Multiply the following using Lattice multiplication.

hC S CoRE I
7358 x 9 ‘ Ao ATy
¢ BB LD B A Kf_/FL "
ans. 66221 ¢ I[/':‘ /J_/TJ;/’ Bl 9

C) Multiply the following. 5 L
§ =+ 4
7 RLEE :
T X 3
155 A
*+ 2 1. g ED = 5
5

2 ) 00Y il |
+2 3 8

B

D) Story sums.

1) Multiply the largest 3 - digit number by the largest 2- digit number.

ans. _ Thi ,&3%65{: 3 "c/@ri/? nth[.)e% /s .=
The fZOA(DéSd‘é 2--6'/;911:C Numbest 1S =

445
a9

ARLew ¢ multibling hwe. get = 13901
hid d

1) A florist wants to make 37 bouquets‘wlth 45 flowers in each flowers in each boddﬁet. How

many flowers does he need?
Ans. N wouet the flasst
Ve / < Ly
wonts £ fo ma ke = 5
No.of flowests in eoch bouget = °

Tstoul no . oF £ilopress Y Le need

- END -

3 . He need 1665 flowests -
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